Long Answer Questions

64. [fasin0+cos O =,

then
Prove that qcos O—bsin0 = Jﬂﬂ b2 —c2.

ﬁ. Given thatsin 6+ 2cos 9 =1, then Prove that 2s5in@ —cos 0 = 9

, then Prove that tan® =1 or :

66. 111 +sin” 0 = 3sin O cos 0

2
2
67. Ifscc 0+ tanB = p, ShGW' [hﬂl .E -l_, -
Ifacos 0+ bsin® = :
68' m ﬂnd asin 0 "‘bEﬂS 6 = n, prﬂvﬂ that ﬂ_z + b2 — mE + ﬂz.

prove that the fnllnwing identities (69-80)

2 2
69. +/secC 0+ cosec “0 = tan 0 + cot O

70. sin A(l1 + tan A) + cos A (1 + cot A)

cos A—sin A +1
cos A+sinA—1
. tan 0 " cot 6 — 1

72 L Y +sec Ocosec 0

tanO+sec®—-1 1+sin@

= sec A + cosecA

v71. = cosecA+cot A

e tanB—sec 0 +1 cos 6

sec O cosecH

cosec ?0  sec? O
sinA+cn5A+sinA—msA [ 2 2

sindA—cosA sinA+cos A sini" A—cns2 A 25in2 A-=1

74. (1+cot®+tan0B)(sin® —cos B) =

75.

76. (sin 6 —sec 0)2 + (cos B —cos ec)® = (1 —sec Bcosech)?

T
7 ] +cos 6 —sin B=cm9

sin B(1 + cos 6)

cosec A cosec A
. + = 2sec? A
cosec A—1 cosecA +1

| |
+
sec A=1 sec A+1

= 2cosec Acot A

79.

1
tan 0 +cot 0

$6. (cosecH —sin 0)(sec 6 —cos 0) =

81. Ifx =asec 0+ btan® and y =atan 6 + bsec 6, prove that x % —y° =a®-b>.

89 sec 0 —1 +\[sec 0+1 ocosec O
sec 0+ 1 sec 0 —1

83 (sec A—cosec A) (1 +tan A+ cot A) = tan Asec A —cot Acosec A.
84. sin Al + tan 0)2 + cos A(1 +cot A) = sec A +cosecA

85. sin® —2sin” 0 = tanD

4
2cos” 0 —cos O

Scanned by CamScanner

Scanned with CamScanner



35. (3?“5 43")2 B cos 37°cosechI® : 85_‘;
sin47° tan 5°tan 25° tan 45°tan 657 14N

36. If'sec 24 = cosec(A —42°) where 24 is an acutc
37. II'sin(A-B) =0, cos(A+ B) =0, 0°< A+ B S 00°,
$8. Iftan(A+ B) = V3 and tan(A - B) = 0, 0°< A+ B S 90
39. Simplify: (1 + tan® 0)(1 —=sin 6)(1 +sin 6).

40. Ifsin0 +cos 0 = v/3, then prove that tan 0 +cot9 = L o
41. Given that a + B = 90°, show that Ji:ns a cosec [} —cos asinf =smn .
asin@-bcos0 _ a* —b2_

asin 0 + bcos 0 al+b®

5 sin® —2cos 0

(ind Aand B.
find sin(A + B) and cos(4 - B),

42. Iftan0 = % prove that

43. Ifsec 0=, find the value of -
4 tan0—cot 0

: an 6

44. 1f 0 = 30°, verify that tan® 0 = 2t1n2
] -tan” 0
—tan® 0

45. 1£0 = 30°, verify that cos? 0 = 20
1+tan” 0

46. 1f A =30°and B = 60°, verify that cos (4 + B)=cos .1cos B —sin Asin B.
47. If A =30°and B = 60°, verify thatsin(A4 + B) = <inn Acos B +cos Asin B.
(2 + 2sin 0)(1 —sin )

(1+ cos 0)(2 — 2cos 0)

48. Ifcot 6 = -1-8'?, then evaluate

|
49. IfsecB=x +l, prove thatsec 0tan@ = 2x or o,
x

50. If /3 tanB = 3<in 0. find the value of sin2 0 —cos” .
2sin0 — 3cos 6

51. Ifcosec 6 = E, find the value of = :
12 4s5in0—9cos 6
: a- —b*
52. Ifsin® = ———, find 1+ tanBcos 0.
a~ +b*

53. 1fcos 0 +5sin 0 = /2 cos 0, prove that cos 8 —sin 8 = /2sin 6.

Find the value of x : (54-55)

54. J/3sinx =cosx
55. tanx =s51mm45°co0s 45°+ sin 30°

Prove the following trigonometric identities: (56-63)

56. sin® 0+cos® 0+ 3sin” Ocos® 0 =1
57. tan 0+ tan(90°-0) =sec Osec (90°-0)
58. tan® 0+ tan~ 0=sec? 0 —sec” 0

tan A 5 cot A
" l=cotA l-tanA
60. (1 +cot A—cosecA)(l+tanA+secA) =2
2cos® 0 -1
sinOcos 0O
| —cos 0

=]+tanA+cotA

59

61. et 0—1an0 =

62. (cosec 0 —cot0) 2 = 0
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